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Chemistry 12
ACID BASE Il REVIEW

SHORT ANSWERS:
" 1.a.Write two equations representing the acidic and basic Hydrolysis

of NaHSO4(s). ZQ t%uw il Zm.+4 x ‘,W.wmwﬁmﬂxmv
IWOW. + Hyoe) = H S04 + olvi
HSOy™ + HoD @) = 9032 +H 307

b. Use calculations to determine if the solution is acidic or basic.
(2 marks)
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2. Calculate the pH of 0.550 M CgH5OH (4 marks)
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3. Neutral red, Hin, is an acid-base indicator.
a. Write an equation to represent the equilibrium of this indicator in
water.(1 mark)

Hin+ How) 2 Thn 4 :wo+

b. What colour would this indicator be in 0.1 M NaOH? (1 mark)
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4. A new indicator "EARL MARRIOT GREEN" is yellow when
[H30%] > 6.3x10°3 M-and green when [Hz0*] < 2.5 x 1074 M.

Calculate the pH value at the midpoint of the transition point for this
indicator. (2 marks)
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) 6. Four monoprotic acids of the same concentration are labelled as *
5. An indicator is often used during acid-base titrations. follows:

a) Define the term transition point for an indicator. (1 mark) Solution Label pH \
v - :...._ A [OH]=5.0x10"TM | .70
When (HTn LT B [H30*] = 0.20 M .10
b) Calculate the Ka value for methyl red. (1 mark) ¥ pOH = 11.30 B A=
. D pH =1.20 - 2O
Ke. = an t@ (- v ,ooﬂsknu List the four solutions in order o{DECREASING >n_c@ Use
Y. m +0.0 appropriate calculations to support your answer. (4 marks)
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¢) A mixture of indicators is made by combining equal amounts of _ W ._u 2 n [ 4 P
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" methyl orange and bromthymol blue. Complete the following table,
showing the colour of each indicator and the mixture at pH of 5 and
pH of 9. (2 marks)
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- 7. a) In the space um_os_ mmer the titration curve for the :
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b) Describe two changes in the titration curve that would result
from

using 0.10M CH,COOH in place of the HCI . (2 marks)
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8. Write the formula equation and the net ionic 'equation for the
reaction between 0.1 M H, SO, and 0.1 M Sr(OH), . (3 marks)
Formula equation:

H2 50y cag) + S (0Higd) —>  SrS0y mﬁ;nzkba

Complete ionic equation: _
4+ : 1 - f - e R

AHT caq) + 504 (aq) 4 5./[&7,) y 200 (a9 — &(a{(H 50\13 (ag)

Net ionic equation:

+ ;,HXDQJ
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Converhion ‘-/ B HJ()Q@ + g?fsj = HjD M

9. A 25.0mL sample of Sr(OH), is titrated with a standardized solution

of HCI to the equivalence point. (3 marks)
a) Write the formula equation for the neutralization. (1 mark)

2HClw+ Sr(oH),ep— %rClz(o?-) + 1 H, 0l

b) Write the net ioni ionic equation for the neutralization. (1 mark)

L Hh o) Loqpd = Hy0" +0H"

c) What is meant by the term “standardlzed solution? (1 mark)
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